Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB

Page 1 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

_	, 				<u> </u>						
Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
1	Allowance for Stormwater Pollution Prevention Best Management Practices (BMP's)	Job	1	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
2	Allowance for Extra Work	Job	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00
3	Construction Surveying And Layout	Job	1	\$75,000.00	\$75,000.00	\$27,700.00	\$27,700.00	\$8,606.00	\$8,606.00	\$20,000.00	\$20,000.00
4	2-Person Survey Party Contingent Item	Hour	4	\$210.00	\$840.00	\$340.00	\$1,360.00	\$222.00	\$888.00	\$300.00	\$1,200.00
5	Mobilization	Job	1	\$75,000.00	\$75,000.00	\$23,600.00	\$23,600.00	\$253,034.00	\$253,034.00	\$150,000.00	\$150,000.00
6	Sawcut, Remove, & Replace AC Pavement per MAG Detail 200-1, Type A	Sq. Yd.	454	\$20.00	\$9,080.00	\$310.00	\$140,740.00	\$207.00	\$93,978.00	\$175.00	\$79,450.00
7	Sawcut & Remove Existing Curb & Gutter	Lin. Ft.	155	\$20.00	\$3,100.00	\$40.00	\$6,200.00	\$23.00	\$3,565.00	\$15.00	\$2,325.00
8	Sawcut, Remove and Replace A.C. Pavement (C.O.P. Standard Detail P-1200) (Trench Repair - Major Arterial Street)	Sq. Yd.	170	\$55.00	\$9,350.00	\$240.00	\$40,800.00	\$261.00	\$44,370.00	\$235.00	\$39,950.00
9	Sawcut, Remove and Replace A.C. Pavement, C.O.P. Standard Detail P-1200 (Trench Repair Local Street)	Sq. Yd.	939	\$50.00	\$46,950.00	\$140.00	\$131,460.00	\$108.00	\$185,922.00	\$115.00	\$107,985.00
	Microseal Coat & Crack Sealing	Sq. Yd.	1,591	\$5.00							\$28,638.00
	Concrete Valley Gutter, Std. Detail 240	Sq. Ft.	1,213	\$50.00			\$33,964.00	\$26.00			\$36,390.00
	Concrete Sidewalk, Std. Detail P-1230	Sq. Ft.	1,174	\$10.00	,	·	\$23,480.00	\$12.00			\$17,610.00
	Concrete Curb Ramp, Std Details P-1237 , R = 20'	Sq. Ft.	1,144	\$20.00			\$21,736.00		, ,		\$29,744.00
14	Concrete Curb Ramp, Std Details P-1240-1 , R = 20'	Sq. Ft.	493	\$20.00	\$9,860.00	\$48.00	\$23,664.00	\$42.00	\$20,706.00	\$26.00	\$12,818.00
15	Concrete Curb Ramp, Std Details P-1241-1 , Midblock	Sq. Ft.	309	\$2,020.00	\$624,180.00		\$11,742.00	\$37.00	\$11,433.00	\$27.00	\$8,343.00
16	Concrete Driveway Entrance, Std. Detail P- 1255-1	Sq. Ft.	788	\$35.00	\$27,580.00	\$20.00	\$15,760.00	\$24.00	\$18,912.00	\$27.00	\$21,276.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 2 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
17	Combined Concrete Curb and Gutter, Std. Detail 220, Type "A", H=6"	Lin. Ft.	243	\$35.00	\$8,505.00	\$40.00	\$9,720.00	\$53.00	\$12,879.00	\$70.00	\$17,010.00
18	Concrete Roll Curb and Gutter, Standard Detail 220, Type "C"	Lin. Ft.	40	\$35.00	\$1,400.00	\$140.00	\$5,600.00	\$57.00	\$2,280.00	\$100.00	\$4,000.00
19	Concrete Curb Transition Per MAG Std. Detail 221	Lin. Ft.	21	\$20.00	\$420.00	\$480.00	\$10,080.00	\$455.00	\$9,555.00	\$120.00	\$2,520.00
20	Adjust Existing Type "A" Water Valve, Standard Detail P-1391 and P-1391-1	Each	3	\$500.00	\$1,500.00	\$1,100.00	\$3,300.00	\$602.00	\$1,806.00	\$650.00	\$1,950.00
21	Adjust Survey Monument, per STD DTL 120-1 B	Each	1	\$500.00	\$500.00	\$4,100.00	\$4,100.00	\$602.00	\$602.00	\$350.00	\$350.00
22	Remove Portland Cement Concrete Sidewalk, Driveway, Valley Gutter & Slab	Sq. Ft.	3,914	\$15.00	\$58,710.00	\$4.00	\$15,656.00	\$11.00	\$43,054.00	\$5.00	\$19,570.00
23	Traffic Control Devices	LS	1	\$50,000.00	\$50,000.00	\$251,800.00	\$251,800.00	\$63,763.00	\$63,763.00	\$50,000.00	\$50,000.00
24	Allowance for Uniformed, Off-duty Law Enforcement Officer	LS	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
25	Concrete Catch Basin, Type "M", Phx. Supp. Detail P1569-1 , L=6'	Each	8	\$5,500.00	\$44,000.00	\$17,600.00	\$140,800.00	\$7,771.00	\$62,168.00	\$14,800.00	\$118,400.00
26	Concrete Catch Basin, Type "M-1, L=17-Ft", Phx. Supp. Detail P-1569-2	Each	2	\$6,500.00	\$13,000.00	\$14,000.00	\$28,000.00	\$11,129.00	\$22,258.00	\$17,000.00	\$34,000.00
27	Waterline Relocation Per C.O.P Standard P1370	Each	6	\$10,000.00	\$60,000.00	\$30,700.00	\$184,200.00	\$39,827.00	\$238,962.00	\$15,000.00	\$90,000.00
28	Waterline Replacement with Dutile Iron Pipe	Each	1	\$1,000.00	\$1,000.00	\$18,400.00	\$18,400.00	\$10,518.00	\$10,518.00	\$15,000.00	\$15,000.00
29	Water Service Connection (Main to Meter)	Each	3	\$500.00	\$1,500.00	\$1,900.00	\$5,700.00	\$1,777.00	\$5,331.00	\$2,000.00	\$6,000.00
30	3/4" or 1" Water Meter Service Connect. Pipe and Fittings, Main to Meter, Furnish & Install	Lin. Ft.	60	\$100.00	\$6,000.00	\$480.00	\$28,800.00	\$28.00	\$1,680.00	\$25.00	\$1,500.00
	Allowance for Excess Ductile Iron Fittings, Furnish and Install	Job	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00			\$5,000.00
32	6" Ductile Iron Water Pipe & Fittings, Restrained, Furnish & Install	L. F.	200	\$300.00	\$60,000.00	\$230.00	\$46,000.00	\$404.00	\$80,800.00	\$350.00	\$70,000.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 3 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
33	Relocate Fire Hydrant, Det. P1360 and P1362 and P1359, P1361, and MAG Specification 610 and COP Supplemental 756	Each	2	\$6,000.00	\$12,000.00	\$18,400.00	\$36,800.00	\$8,558.00	\$17,116.00	\$3,000.00	\$6,000.00
34	6" Insertion Valve (CONTINGENT ITEM)	Each	1	\$2,000.00	\$2,000.00	\$20,100.00	\$20,100.00	\$17,767.00	\$17,767.00	\$10,000.00	\$10,000.00
35	Storm Sewer 6" Concrete Encasement	L.F.	47	\$100.00	\$4,700.00	\$460.00	\$21,620.00	\$160.00	\$7,520.00	\$70.00	\$3,290.00
36	15" Class V Storm Sewer Pipe	Lin. Ft.	94	\$150.00	\$14,100.00	\$450.00	\$42,300.00	\$289.00	\$27,166.00	\$500.00	\$47,000.00
37	18" Class V Storm Sewer Pipe	Lin. Ft.	383	\$200.00	\$76,600.00	\$630.00	\$241,290.00	\$359.00	\$137,497.00	\$400.00	\$153,200.00
38	24" Class V Storm Sewer Pipe	Lin. Ft.	719	\$200.00	\$143,800.00	\$380.00	\$273,220.00	\$396.00	\$284,724.00	\$300.00	\$215,700.00
39	19" x 30" Elliptical Storm Drain Pipe	Lin. Ft.	76	\$500.00	\$38,000.00	\$950.00	\$72,200.00	\$415.00	\$31,540.00	\$300.00	\$22,800.00
40	Concrete Pipe Collar For 24" Pipe and Larger, COP Standard Detail P-1505	Each	1	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$2,429.00	\$2,429.00	\$3,500.00	\$3,500.00
41	Storm Sewer Lateral Connection Per Detail P- 1577	Each	2	\$500.00	\$1,000.00	\$8,900.00	\$17,800.00	\$3,141.00	\$6,282.00	\$5,000.00	\$10,000.00
42	Storm Sewer Manhole, MAG Standard Detail 522, COP Supp. Std. Detail P-1520	Each	8	\$7,000.00	\$56,000.00	\$21,300.00	\$170,400.00	\$7,246.00	\$57,968.00	\$12,000.00	\$96,000.00
43	6" Valve, Box and Cover, Furnish & Install (Remove existing and install new)	Each	6	\$1,500.00	\$9,000.00	\$4,900.00	\$29,400.00	\$3,941.00	\$23,646.00	\$2,000.00	\$12,000.00
44	6" x 6" x 6" Tee, Furnish & Install	Each	1	\$600.00	\$600.00	\$2,700.00	\$2,700.00	\$5,236.00	\$5,236.00	\$800.00	\$800.00
45	Allowance for Stormwater Pollution Prevention Best Management Practices (BMP's)	JOB	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
46	Allowance for Extra Work	Job	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
47	Construction Surveying And Layout	Job	1	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$8,606.00	\$8,606.00	\$10,000.00	\$10,000.00
48	2-Person Survey Party Contingent Item	Hour	8	\$210.00	\$1,680.00	\$1,100.00	\$8,800.00	\$222.00	\$1,776.00	\$250.00	\$2,000.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 4 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
49	Mobilization	Job	1	\$35,000.00	\$35,000.00	\$125,000.00	\$125,000.00	\$50,874.00	\$50,874.00	\$50,000.00	\$50,000.00
50	Channel Excavation	Cu. Yd.	418	\$200.00	\$83,600.00	\$1,900.00	\$794,200.00	\$97.00	\$40,546.00	\$450.00	\$188,100.00
51	Rip-Rap, D50=6"	Cu. Yd.	30	\$180.00	\$5,400.00	\$500.00	\$15,000.00	\$241.00	\$7,230.00	\$300.00	\$9,000.00
52	Sawcut & Remove Existing Curb & Gutter	Lin. Ft.	9	\$60.00	\$540.00	\$390.00	\$3,510.00	\$78.00	\$702.00	\$100.00	\$900.00
53	Sawcut & Remove Existing Sidewalk	Sq. Ft.	54	\$20.00	\$1,080.00	\$81.00	\$4,374.00	\$20.00	\$1,080.00	\$20.00	\$1,080.00
54	Sawcut, Remove and Replace A.C. Pavement, C.O.P. Standard Detail P-1200	Sq. Yd.	2	\$70.00	\$140.00	\$1,900.00	\$3,800.00	\$872.00	\$1,744.00	\$1,250.00	\$2,500.00
55	Slurry Seal Coat & Crack Sealing	Sq. Yd.	268	\$5.00	\$1,340.00	\$100.00	\$26,800.00	\$27.00	\$7,236.00	\$85.00	\$22,780.00
56	Remove Tree	Each	10	\$1,000.00	\$10,000.00	\$3,600.00	\$36,000.00	\$2,272.00	\$22,720.00	\$1,200.00	\$12,000.00
57	Traffic Control Devices	LS	1	\$15,000.00	\$15,000.00	\$38,300.00	\$38,300.00	\$2,763.00	\$2,763.00	\$5,000.00	\$5,000.00
58	Safety Rail, MAG Detail 145	Lin. Ft.	10	\$200.00	\$2,000.00	\$210.00	\$2,100.00	\$165.00	\$1,650.00	\$150.00	\$1,500.00
59	Temporary Fence (Disturbance Limit Fence)	Lin. Ft.	4,016	\$2.00	\$8,032.00	\$6.00	\$24,096.00	\$6.00	\$24,096.00	\$8.00	\$32,128.00
60	Tall Pot Tree (Furnished by FCDMC)	Each	15	\$1,000.00	\$15,000.00	\$89.00	\$1,335.00	\$1,087.00	\$16,305.00	\$1,000.00	\$15,000.00
61	Saguaro	Each	10	\$350.00	\$3,500.00	\$1,200.00	\$12,000.00	\$1,087.00	\$10,870.00	\$2,000.00	\$20,000.00
62	15 Gallon Cactus (Barrel Cactus)	Each	5	\$200.00	\$1,000.00	\$380.00	\$1,900.00	\$1,087.00	\$5,435.00	\$400.00	\$2,000.00
63	Hydroseed, Type A (Sonoran Desert Mix)	Sq. Ft.	71,869	\$0.12	\$8,624.28	\$0.50	\$35,934.50	\$0.15	\$10,780.35	\$0.50	\$35,934.50
64	Cacti, Transplant	Each	27	\$75.00	\$2,025.00	\$1,500.00	\$40,500.00	\$2,281.00	\$61,587.00	\$1,000.00	\$27,000.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 5 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
65	Saguaro, Tranplanting	Each	1	\$650.00	\$650.00	\$380.00	\$380.00	\$4,562.00	\$4,562.00	\$8,000.00	\$8,000.00
66	Landscape and Irrigation Restoration	Lump Sum	1	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$46,910.00	\$46,910.00	\$10,000.00	\$10,000.00
67	Survey, Tag, and Inventory of Plant Materials	Lump Sum	1	\$5,000.00	\$5,000.00	\$2,700.00	\$2,700.00	\$9,503.00	\$9,503.00	\$10,000.00	\$10,000.00
68	Concrete Catch Basin, Type "F", MAG Detail 535	Each	1	\$4,000.00	\$4,000.00	\$10,300.00	\$10,300.00	\$5,631.00	\$5,631.00	\$20,000.00	\$20,000.00
69	Concrete Scupper, MAG Standard Detail 206	Each	1	\$3,500.00	\$3,500.00	\$32,600.00	\$32,600.00	\$3,611.00	\$3,611.00	\$15,000.00	\$15,000.00
70	Headwall For 15" Pipe, MAG Standard Details 501-1 And 501-2	Each	1	\$3,000.00	\$3,000.00	\$10,800.00	\$10,800.00	\$6,193.00	\$6,193.00	\$13,000.00	\$13,000.00
71	15" C.M.P., 12 Gauge	L. F.	37	\$220.00	\$8,140.00	\$720.00	\$26,640.00	\$182.00	\$6,734.00	\$400.00	\$14,800.00
72	Allowance for Stormwater Pollution Prevention Best Management Practices (BMP's)	Job	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
73	Allowance for Extra Work	Job	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
74	Construction Surveying And Layout	Job	1	\$8,000.00	\$8,000.00	\$14,000.00	\$14,000.00	\$8,606.00	\$8,606.00	\$5,000.00	\$5,000.00
75	2-Person Survey Party Contingent Item	Hour	1	\$210.00	\$210.00	\$340.00	\$340.00	\$222.00	\$222.00	\$250.00	\$250.00
76	Mobilization	Job	1	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00	\$67,491.00	\$67,491.00	\$10,000.00	\$10,000.00
77	Sawcut & Remove Existing Curb & Gutter	Lin. Ft.	138	\$20.00	\$2,760.00	\$18.00	\$2,484.00	\$14.00	\$1,932.00	\$15.00	\$2,070.00
	Sawcut & Remove A.C. Pavement, C.O.P. Standard Detail P-1200 & MAG Spec 336	Sq. Yd.	270	\$20.00	\$5,400.00	\$10.00	\$2,700.00	\$189.00			\$45,900.00
	Pavement Replacement, C.O.P. Standard Detail P-1200 & MAG Spec 336	Sq. Yd.	200	\$70.00		\$140.00		\$193.00			\$36,000.00
80	Slurry Seal Coat & Crack Sealing	Sq. Yd.	1,097	\$5.00	\$5,485.00	\$34.00	\$37,298.00	\$27.00	\$29,619.00	\$23.00	\$25,231.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 6 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
81	Concrete Valley Gutter, Std. Detail 240	Sq. Ft.	120	\$50.00	\$6,000.00	\$130.00	\$15,600.00	\$220.00	\$26,400.00	\$70.00	\$8,400.00
82	Concrete Roll Curb and Gutter, Standard Detail 220, Type "C"	Lin. Ft.	138	\$35.00	\$4,830.00	\$80.00	\$11,040.00	\$53.00	\$7,314.00	\$60.00	\$8,280.00
83	Concrete Valley Gutter, Std. Detail 240, Modified Per Plans	Sq. Ft.	643	\$50.00	\$32,150.00	\$38.00	\$24,434.00	\$27.00	\$17,361.00	\$40.00	\$25,720.00
84	Adjust Existing Type "A" Water Valve, Standard Detail P-1391 and P-1391-1	Each	1	\$200.00	\$200.00	\$1,100.00	\$1,100.00	\$602.00	\$602.00	\$650.00	\$650.00
85	Remove Portland Cement Concrete Sidewalk, Driveway, Valley Gutter & Slab	Sq. Ft.	135	\$20.00	\$2,700.00	\$100.00	\$13,500.00	\$13.00	\$1,755.00	\$5.00	\$675.00
86	Traffic Control Devices	LS	1	\$6,000.00	\$6,000.00	\$20,600.00	\$20,600.00	\$8,163.00	\$8,163.00	\$10,000.00	\$10,000.00
87	Trench Drain, per Special Detail	Each	1	\$5,000.00	\$5,000.00	\$14,600.00	\$14,600.00	\$23,711.00	\$23,711.00	\$40,000.00	\$40,000.00
88	Allowance for Stormwater Pollution Prevention Best Management Practices (BMP's)	Job	1	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
89	Allowance for Extra Work	Job	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
90	Construction Surveying And Layout	Job	1	\$25,000.00	\$25,000.00	\$17,400.00	\$17,400.00	\$8,606.00	\$8,606.00	\$10,000.00	\$10,000.00
91	2-Person Survey Party Contingent Item	Hour	8	\$210.00	\$1,680.00	\$340.00	\$2,720.00	\$222.00	\$1,776.00	\$250.00	\$2,000.00
92	Mobilization	Job	1	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$103,491.00	\$103,491.00	\$200,000.00	\$200,000.00
93	Sawcut & Remove Existing Curb & Gutter	Lin. Ft.	248	\$20.00	\$4,960.00	\$16.00	\$3,968.00	\$11.00	\$2,728.00	\$10.00	\$2,480.00
94	Sawcut & Remove Existing Sidewalk & Ramp	Sq. Ft.	1,154	\$25.00	\$28,850.00	\$12.00	\$13,848.00	\$11.00	\$12,694.00	\$8.00	\$9,232.00
95	Sawcut, Remove and Replace A.C. Pavement (C.O.P. Standard Detail P-1200)(Major Arterial Street)	Sq. Yd.	350	\$75.00	\$26,250.00	\$300.00	\$105,000.00	\$189.00	\$66,150.00	\$250.00	\$87,500.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 7 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
96	Sawcut, Remove and Replace A.C. Pavement, C.O.P. Standard Detail P- 1200(Local Street)	Sq. Yd.	132	\$70.00	\$9,240.00	\$360.00	\$47,520.00	\$212.00	\$27,984.00	\$130.00	\$17,160.00
97	Slurry Seal Coat	Sq. Yd.	608	\$5.00	\$3,040.00	\$45.00	\$27,360.00	\$27.00	\$16,416.00	\$45.00	\$27,360.00
98	Concrete Valley Gutter, Std. Detail 240	Sq. Ft.	118	\$50.00	\$5,900.00	\$100.00	\$11,800.00	\$31.00	\$3,658.00	\$70.00	\$8,260.00
99	Concrete Sidewalk, Std. Detail P-1230	Sq. Ft.	1,154	\$10.00	\$11,540.00	\$8.00	\$9,232.00	\$12.00	\$13,848.00	\$15.00	\$17,310.00
100	Combined Concrete Curb and Gutter, Std. Detail 220, Type "A", H=6"	Lin. Ft.	83	\$35.00	\$2,905.00	\$77.00	\$6,391.00	\$63.00	\$5,229.00	\$80.00	\$6,640.00
101	Concrete Single Curb, Std. Detail 222, Type "B"	Lin. Ft.	143	\$35.00	\$5,005.00	\$49.00	\$7,007.00	\$59.00	\$8,437.00	\$70.00	\$10,010.00
102	Concrete Curb Transisiton Per MAG Std. Detail 221	Lin. Ft.	20	\$35.00	\$700.00	\$150.00	\$3,000.00	\$505.00	\$10,100.00	\$115.00	\$2,300.00
103	Remove Portland Cement Concrete Sidewalk, Driveway, Valley Gutter & Slab	Sq. Ft.	118	\$25.00	\$2,950.00	\$60.00	\$7,080.00	\$14.00	\$1,652.00	\$5.00	\$590.00
104	Remove Pipe	Lin. Ft.	8	\$10.00	\$80.00	\$530.00	\$4,240.00	\$172.00	\$1,376.00	\$50.00	\$400.00
105	Traffic Control Devices	LS	1	\$25,000.00	\$25,000.00	\$210,100.00	\$210,100.00	\$18,485.00	\$18,485.00	\$40,000.00	\$40,000.00
106	Concrete Catch Basin, Type "M", Phx. Supp. Detail P1569-1 , M-2 L=10'	Each	5	\$8,000.00	\$40,000.00	\$17,500.00	\$87,500.00	\$16,197.00	\$80,985.00	\$15,500.00	\$77,500.00
107	Concrete Catch Basin, Type "M-1, L=10-Ft", Phx. Supp. Detail P-1569-1	Each	5	\$6,500.00	\$32,500.00	\$5,000.00	\$25,000.00	\$11,129.00	\$55,645.00	\$14,750.00	\$73,750.00
108	Waterline Replacement with Dutile Iron Pipe	Each	4	\$4,000.00	\$16,000.00	\$22,500.00	\$90,000.00			\$20,000.00	\$80,000.00
	Permanent Pipe Support, MAG Standard Details 403-1, 403-2, or 403-3	Each	2	\$1,000.00			\$23,000.00				\$10,000.00
110	Water Service Connection (Main to Meter)	Each	1	\$500.00	\$500.00		\$9,500.00				\$2,000.00
	Construct Water or Sanitary Sewer Encasement, MAG. St'd. Detail-404	Lin. Ft.	12	\$150.00			\$55,200.00				\$1,200.00

Project No.: ST83140119, ST83140121, ST83140122, AND ST83140123 Description: ARPA LOCAL DRAINAGE MITIGATION PACKAGE 1 REBID DBB Page 8 of 8 FINAL BID RESULTS_ARPA Local Drainage PKG 1 REBID DBB.xlsx

Bid Date: 7/30/2024

Item No.	Description	Unit	Quantity	Engineer's Unit Price	Extended Total	Achen Gardner Construction, LLC	Extended Total	Action Direct, LLC dba Redpoint Contracting	Extended Total	AJP Electric, Inc.	Extended Total
112	15" Class V Storm Sewer Pipe	Lin. Ft.	6	\$150.00	\$900.00	\$1,900.00	\$11,400.00	\$633.00	\$3,798.00	\$2,000.00	\$12,000.00
113	18" Class V Storm Sewer Pipe	Lin. Ft.	66	\$150.00	\$9,900.00	\$1,250.00	\$82,500.00	\$346.00	\$22,836.00	\$480.00	\$31,680.00
114	24" Class V Storm Sewer Pipe	Lin. Ft.	233	\$200.00	\$46,600.00	\$640.00	\$149,120.00	\$481.00	\$112,073.00	\$500.00	\$116,500.00
115	36" Storm Sewer Pipe, Class V	Lin. Ft.	172	\$250.00	\$43,000.00	\$900.00	\$154,800.00	\$1,012.00	\$174,064.00	\$800.00	\$137,600.00
116	Pipe Plug, Standard Detail 427	Each	1	\$1,000.00	\$1,000.00	\$5,300.00	\$5,300.00	\$1,815.00	\$1,815.00	\$2,000.00	\$2,000.00
	Concrete Pipe Collar For 24" Pipe and Larger, COP Standard Detail P-1505	Each	2	\$600.00	\$1,200.00	\$4,900.00	\$9,800.00	\$2,429.00	\$4,858.00	\$3,500.00	\$7,000.00
118	24" X 24" X 15" Prefabricated Tee	Each	1	\$600.00	\$600.00	\$7,800.00	\$7,800.00	\$2,726.00	\$2,726.00	\$8,000.00	\$8,000.00
119	36" X 36" X 18" Prefabricated Tee	Each	1	\$1,000.00	\$1,000.00	\$7,700.00	\$7,700.00	\$3,635.00	\$3,635.00	\$9,000.00	\$9,000.00
	Storm Sewer Manhole, MAG Standard Detail 522, COP Supp. Std. Detail P-1520	Each	4	\$70,000.00	\$280,000.00	\$30,500.00	\$122,000.00	\$7,246.00	\$28,984.00	\$12,000.00	\$48,000.00
121	Connect New Pipe to Existing Manhole	Each	1	\$1,500.00	\$1,500.00	\$7,400.00	\$7,400.00	\$3,141.00	\$3,141.00	\$2,500.00	\$2,500.00
	GRAND TOTALS		\$3,261,086.28		\$5,710,009.50		\$3,982,083.35		\$3,906,189.50		